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       [Time: 3 Hours]                                                                       [Total Marks: 80] 

 

Please check whether you have got the right question paper. 

 

N. B. 1) All the questions are compulsory.  

         2) Figures to the right indicate full marks. 

 

1. Solve any two questions of the following:                                              20 

a) Discuss the Nature and Scope of Industrial Economics. 

b) Give the various problems of Public Sector in India.                                   

c) Explain the motives for Mreger and Acquisitions of firms.  

 
2. Solve any two questions of the following:                                              20 

a) Discuss the factors affecting of Industrial Location. 

b) Explain the theory of Sergeant Florence of industrial location.  

c) Explain the causes of regional imbalance and its solutions.  

 

3. Solve any two questions of the following:                                              20             

a) Explain the concept of Industrial Productivity. How is it measured?  

b) Describe the causes of industrial sickness. 

c) Explain the concept Rationalization and state its different Aspects. 

 

4. Solve any two questions of the following:                                              20             

a) Discuss on disinvestment policy in India.                       

b) Explain the resent trends in India’s Industrial Growth.  

c) Give the merits and demerits of MNC’s. 

 

________________________ 
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मराठी भाषाांतर                          

     वेळ : ३ तास                                                                       एकूण गणु: ८० 

 

सूचना:-  १) सवव प्रश्न अननवार्व आहते.  

             २) उजवीकडील अांक पूणव गुण दर्वनवतात.  

 

१. खालीलपैकी कोणतहेी दोन प्रश्न सोडवा:                                                    २०                        

अ) औद्योनगक अर्वर्ास्त्राचे स्वरूप आनण व्याप्तीची चचाव करा.   

ब) भारतातील साववजननक क्षते्राच्र्ा नवनवध समस्र्ा साांगा. 

क) कां पन्र्ाचे नवलीनीकरण आनण अनधग्रहणाचे हतूे स्पष्ट करा. 

 

२. खालीलपैकी कोणतहेी दोन प्रश्न सोडवा:                                                     २०                                                                            

अ) औद्योनगक स्र्ाननर्ीकरणावर पररणाम करणाऱ्र्ा घटकाांची चचाव करा.  

ब) साजंट फ्लॉरेन्स र्ाांचा औद्योनगक स्र्ाननननितीचा नसद्ाांत स्पष्ट करा. 

क) प्रादनेर्क असमतोलाची कारणे आनण त्र्ावरील उपार् नवर्द करा.  

  

३. खालीलपैकी कोणतहेी दोन प्रश्न सोडवा:                                                     २०                                                                            

अ) औद्योनगक उत्पादकता ही सांकल्पना स्पष्ट करा. ती कर्ी मोजतात?  

ब) औद्योनगक आजारपणाच्र्ा कारणाांचे वणवन करा. 

क) नववेकीकरणाची (तकव र्ुद्ीकरण) सांकल्पना स्पष्ट करा आनण त्र्ाचे नवनवध पैल ूसाांगा. 

  

४. खालीलपैकी कोणतहेी दोन प्रश्न सोडवा:                                                     २०                                                                           

अ) भारतातीतील ननगंुतवणुक धोरणावर चचाव करा.  

ब) भारताच्र्ा औद्योनगक वाढीतील अलीकडील कल स्पष्ट करा. 

क) बहुराष्ट्रीर् कां पन्र्ाांचे गुण दोष साांगा. 

-------------------------- 
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